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Research Methodology

Section Id : 549470404
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Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 54947028752 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most desirable skill of teacher is to

Options :

make the students understand what the teacher says

1. ¢

cover the prescribed course
2. ®

keep students relaxed while teaching
3. %

keep higher authorities informed about the class activities



Question Number : 2 Question Id : 54947028753 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Which of the following orders are the three levels of teaching?
(1) Memory level of teaching
(i1) Understanding level of teaching
(111) Reflective level of teaching
(iv) Pedagogical level of teaching

Options :

(i), (ii). and (iii)
1.

(11). (ii1), and (iv)
2. %

(i). (iii). and (iv)

(1). (11), and (1v)

Question Number : 3 Question Id : 54947028754 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The best way a teacher can try to inculcate good values among students is

Options :

teaching by way of storytelling
1. ®

by developing sense of discipline
2. ®

ideal behaviour of teacher themselves
3.¢¥

to take their parents into confidence
4. %

Question Number : 4 Question Id : 54947028755 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Morphographs is the term associated with
Options :

Corrective spelling
1.¥



Corrective teaching

2. %

Corrective learning
3. %

Corrective behaviour
4. %

Question Number : S Question Id : 54947028756 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If vou get an opportunity to teach a visually challenged student along with normal
students, what type of treatment would you like to gtve him in the class?

Options :
Not giving extra attention because majority may suffer

Take care of him sympathetically in the classroom

You will think that blindness is his destiny and hence you cannot do anything



Arrange a seat in the front row and try to teach at a pace convenient to him

Question Number : 6 Question Id : 54947028757 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For a teacher, which of the following methods would be correct for writing on the
blackboard?

Options :

Writing fast and as clearly as possible

1. ®
Writing the matter first and then asking students to read it
2. %
Asking a question to students and then writing the answer as stated by them
3. %
Writing the important points as clearly as possible
4. ¢

Question Number : 7 Question Id : 54947028758 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Who developed the interaction analysis category system in education for increasing
the teacher’s effectiveness

Options :
Flander
1. v
Rayon
2. %
Amidon and Simon
3 %
Richard Over
4, %

Question Number : 8 Question Id : 54947028759 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What do you consider as the main aim of interdisciplinary research?
Options :
To bring out holistic approach to research

1. ¢

To reduce the emphasis of single subject in research domain



To oversimplify the problem of research

To create a new trend 1n research methodology

Question Number : 9 Question Id : 54947028760 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The research which is exploring new facts through the study of the past is called

Options :

Philosophical research
1, ®

Historical research
2.¢

Mythological research
3. %

Content analysis
4. %

Question Number : 10 Question Id : 54947028761 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The government of India conducts census after every 10 years. The method of
research used in this process is

Options :

Case study
1 ®

Developmental
2. ®

Survey
3. ¢

Experimental
4, %

Question Number : 11 Question Id : 54947028762 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The process not needed in experimental research is

Options :

Observation



Manipulation and replication

2. %

Controlling
3 %

Reference collection
4.

Question Number : 12 Question Id : 54947028763 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ex post facto research means
Options :

The research 1s caitied out after the incident

1. ¢

The research is carried out prior to the incident
2. %

The research is carried out along with the happening of an incident
3. %

The research is carried out keeping in mind the possibilities of an incident



Question Number : 13 Question Id : 54947028764 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arrange the following steps of research in correct sequence:
I. Identification of research problem
II. Listing of research objectives
III. Collection of data
IV. Methodology
V. Data analysis
VI. Results and discussion

Options :
- I IL IIT, V, IV, and VI

LILIOL IV, V, and VI

2. ¢

ILT O, IV, V, and VI
3, %

IL L IR, I V. and VI
4, %

Question Number : 14 Question Id : 54947028765 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
A variable that is presumed to cause a change in another variable is called
Options :

A categorical variable

1, *
A dependent variable
2. %
An independent variable
3.
An intervening variable
4, %
Is Section Default? : null

Question Id : 54947028766 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)



Read the following passage carefully and answer the questions from 15 to 21:

The great Acharyas have said that everything discovered has a great goal. surrender
yourself to that goal and act towards it by drawing your inspiration from that goal whereby you
will get a new column of energy. Do not allow this energy to be dissipated in the futile memory
of past regrets or failures. or excitement of the present. and bring that entire energy focused into
activity. that is. the highest creative action in the world outside, whereby the individual who is
till now considered the most inefficient finds his way to the highest achievement and success.

This can be said very easily in a second. In order to train our mind to this attitude.
consider able training is needed because we have already trained our mind wrongly to such an
extent that we have become perfect in imperfections. Not knowing the art of action. we have
mastered artists in doing wrong things: the totality of activity will bring the country to a wrong
end indeed.

If each one is given a car to achieve an ideal socialistic pattern and nobody knows
driving, but starts driving, what would be the condition on road? Everybody has equal rights on
the public road. Then, each car will necessarily dash against the other and there is bound to be a
Jumble.

There seems to be a very apt pattern of life that we are heading to. Every one of us is a
vehicle. We know how to go forward. The point intellect is very powerful and everybody is
driving but nobody knows how to control the mental energy and direct it properly or guide it to
the proper destination.



Sub questions

Question Number : 15 Question Id : 54947028767 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the effect of wrong training of our mind?

Options :

Becoming perfect in all aspects of life

1. %
Becoming master artists
2. %
Taking the country to wrong destination
3. %
Carrying on activities without knowing how to control mental energies
4.

Question Number : 16 Question Id : 54947028768 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The source of energy according to the author is

Options :



Highest creative action

1. %
Proper training of mind
2. %
Inspiration from past events
3. %
Stimulation obtained from a set goal
4. ¢

Question Number : 17 Question Id : 54947028769 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The author’s main focus in the passage is

Options :

Finding out a worthy goal in life
1. *

Regulation of energy in proper channels
2.¢

Struggle for equal rights



Car accidents due to lack of driving skills

Question Number : 18 Question Id : 54947028770 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The country may perish because of

Options :
Failures in past acts
1. ®
Wrong deeds performed without proper knowledge
2.¢
Complete surrender to anyone goal
3. %
Directing mental energy to the right destination
4. %

Question Number : 19 Question Id : 54947028771 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The author considers everyone to be a vehicle that knows how to go forward

Options :



Without driving energy

1. ®
With least consideration for others
2. %
With no sense of direction
3.9
With no control on speed
4, ®

Question Number : 20 Question Id : 54947028772 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following can be considered as the most suitable title for the passage?
Options :

Human mind versus car
1. ®

Channelization of mental energy
2.

Mental energy



Life without a goal

Question Number : 21 Question Id : 54947028773 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How do you interpret that “we have become perfect in imperfections™?
Options :

We have already trained our minds wrongly
1.¢

We have trained the artists with proper art of action

2. %
Right performance with wrong training
3. %
Wrong performance with right training
4. %
Is Section Default? : null

Question Number : 22 Question Id : 54947028774 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the three components are parts of the human communication process?



Options :

Message, recording, and feedback

1. %
Noise. feedback. and jargon
2. %
Message, noise, and feedback
3. ¢
Feedback. message, and critiquing
4, %

Question Number : 23 Question Id : 54947028775 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Communication becomes circular when
Options :
The decoder becomes an encoder

1.¢

The feedback 1s absent

The source i1s credible
3 %



The channel 1s clear

Question Number : 24 Question Id : 54947028776 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement(s) is/are true in context of paraphrasing?
(A) It 1s basically about stating in your own words. your understanding of
what has just been said.
(B) It gives speaker opportunity to find out what message s/he is getting
across to you.

Options :
Only A
1. %
Only B
2. %
Both A and B
3. ¢

Neither A nor B
4, %



Question Number : 25 Question Id : 54947028777 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In communication, chatting in internet 1s
Options :

Verbal communication

1. ¢

Non-verbal communication
2. %

Parallel communication
3 %

Grapevine communication
4, %

Question Number : 26 Question Id : 54947028778 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Chinese Cultural Revolution leader Mao Zedong used a type of communication to
talk to the masses known as

Options :

Mass line communication
1.



Group communication

2. %

Participatory communication
3. %

Dialogue communication
4. %

Question Number : 27 Question Id : 54947028779 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Telephone 1s an example of

Options :

Linear communication
1. v

Non—linear communication
2. %

Circular



Mechanized

Question Number : 28 Question Id : 54947028780 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A message beneath a message is labelled as

Options :
Embedded text
1. %
Internal text
2. %
Intertext
3 %
Subtext
4.

Question Number : 29 Question Id : 54947028781 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

03,8, 15, 2% 35,48, 63, ...

Options :



1.9

82
2. %

_3
3%

84
4. %

Question Number : 30 Question Id : 54947028782 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

ABC, CBA, DEF, ... , GHIL, IHG

Options :

JKL
1. %

FED
2.

DFE



UK

Question Number : 31 Question Id : 54947028783 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If ‘PAT’ is coded as “QRBCUV”, then how will you code ‘GRACE’?

Options :

HISTBCDEFG
1.v

HISTBCDEGF
2. %

HISBTCDEFG
3. %

HISTBCEDFG
4, %

Question Number : 32 Question Id : 54947028784 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If B is the only child of C’s grandfather’s only daughter, then how is C’s father
related to B?



Options :

Maternal uncle

1. v
Father
2. %
Paternal uncle
3 %
Can’t be determined
4, %

Question Number : 33 Question Id : 54947028785 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Shalini walked 15 m towards south, took right turn, and walked 3 m. She took a right
turn again and walked 15 m before stopping. Which direction did Shalini face after
stopping?

Options :

West

South



East

North

Question Number : 34 Question Id : 54947028786 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If A’s income is 25% more than B’s and B’s income is 20% more than C’s. by what
percent is A’s income more than C’s?

Options :

15%
1. %

25%
2. %

33.5%
3. %

50%
4.

Question Number : 35 Question Id : 54947028787 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A train whose length is 320 m is running at a speed of 36 kmph. How much time will
it take to pass a pole?

Options :

30s
1. %

32 s
2. ¢

3658
3. %

40 s
4, ®

Question Number : 36 Question Id : 54947028788 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A deductive argument is valid if

Options :

Premises are false and conclusion is true



Premises are false and conclusion 1s also false

2. %

Premises are true and conclusion is false
3 %

Premises are true and conclusion is true
4, &

Question Number : 37 Question Id : 54947028789 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The spread of the Internet for higher education is premised on

Options :

Research and development is vital
1, *

Browsing encourages critical thinking
2.

Easy management and dissemination of knowledge
3.¢



India should be second to none in the world
4, %

Question Number : 38 Question Id : 54947028790 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given below are two statements followed by two conclusions I and II. Assuming that
the given statements are true even if they are at variance with the commonly known
facts. pick up one of the following answer choice which you think is correct.

Statements:
All boys are men.
All men are fathers.
Conclusions:
I. Some men are boys.
I1. All boys are fathers.

Options :

If only conclusion I follows

If only conclusion IT follows



If both I and II follow

If neither I nor II follows

Question Number : 39 Question Id : 54947028791 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given below are two statements followed by two conclusions I and II. Assuming that
the given statements are true even if they are at variance with the commonly known
facts. pick up one of the following answer choice which you think is correct.

Statements:
Some benches are chairs.
Hammer is a bench.
Conclusions:
I. Some chairs are benches.
I1. Hammer 1s not a chair.

Options :

If only conclusion I follows
1.¢



If only conclusion IT follows

2. %

If both I and II follow
3%

If neither I nor IT follows
4. %

Question Number : 40 Question Id : 54947028792 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not an argument?
Options :

Devadutt does not eat in the day so he must be eating at night.

If Devadutt is growing fat and if he does not eat during the day. then he will be
eating at night.

Devadutt eats in the night so he does not eat during the day.



Since Devadutt does not eat in the day, he must be eating in the night.

Question Number : 41 Question Id : 54947028793 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following are Central Universities?

(1) Pondicherry University

(11) Vishwa Bharati

(1) HN.B. Garhwal University

(iv) Kurukshetra University

Select the correct answer from the codes given below:

Options :

(i). (ii). and (iii)
1. ¢

(1), (111). and (1v)

(1), (ii1), and (iv)
3. %

(1). (i1). and (1v)



Question Number : 42 Question Id : 54947028794 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first virtual University of India came up in

Options :
Andhra Pradesh
1. %
Maharashtra
2. %
Uttar Pradesh
3 %
Tamil Nadu
4, %
Is Section Default? : null

Question Id : 54947028795 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:
Study the following table carefully and answer questions 43 - 45. It consists of breakup of
expenses of a company over different vears.

Items of expenditure rupees in lakhs
Year Salary Fuel & Transport Bonus Interest on loans Taxes
1998 288 98 3.00 234 83
1999 342 112 252 325 108
2000 324 101 3.84 41.6 74
2001 336 33 3.68 364 88
2002 420 142 3.96 49.4 98

Sub questions

Question Number : 43 Question Id : 54947028796 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the average amount of interest per year which the company had to pay during
this period?

Options :

32.43 lakhs



33.72 lakhs

2. %

34.18 lakhs
3, %

36.66 lakhs
4.

Question Number : 44 Question Id : 54947028797 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Total expenditure on all these items in 1998 was approximately what percent of the
total expenditure in 20027

Options :

62%
1. %

66%
2. %

69%
3. ¢

71%



Question Number : 45 Question Id : 54947028798 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ratio between the total expenditure on taxes for all the years and the total
expenditure on fuel and transport for all the years. respectively. 1s approximately

Options :
4:7
1. =
133
2.9
I5:18
3. %
5:8
4, %
Is Section Default? : null

Question Id : 54947028799 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)



Note:
Study the following pie chart care fully and answer questions 46—49. It consists of data on
tourist arrival from different countries. Total tourist traffic is 20 lakhs.

Sub questions

Question Number : 46 Question Id : 54947028800 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The difference between tourist numbers from USA and Japan is

Options :



2 lakhs

1. v

3 lakhs
2. %

4 lakhs
3 %

5 lakhs
4, %

Question Number : 47 Question Id : 54947028801 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the number of tourists from UK doubles up while the total remains the same. then
the new angle extended by tourists from UK will be

Options :
60°
1. %
127
2. ¢
90°



120°

Question Number : 48 Question Id : 54947028802 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The angle extended at the centre by sector of tourists from USA is

Options :

108°
1. %

118°
2. %

144°
3.¢

165°
4, %

Question Number : 49 Question Id : 54947028803 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the tourist traffic from USA shows a growth of 50% while the total number of
tourists remains the same, then the new percentage from USA is



Options :

40%
1. %
45%
2. %
50%
3. ¢
60%
4, #
Is Section Default? : null

Question Number : 50 Question Id : 54947028804 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The institution promoted by the Department of IT to provide communication
infrastructure and services to academic research institutions in India 1s

Options :

INFLIBNET

UGC



ERNET
3.¢

No Option

Question Number : 51 Question Id : 54947028805 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

MICR stands for
Options :

Magnetic Ink Character Reader

1. ¢
. Magnetic Ink Code Reader
2.
Magnetic Ink Cases Reader
3. %
No Option
4. %

Question Number : 52 Question Id : 54947028806 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is not related to information security on the Internet?

Options :
Data encryption
1. %
Water marking
2. %
Data hiding
3. %
Information retrieval
4. &

Question Number : 53 Question Id : 54947028807 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

World Wide Web was proposed by

Options :

Bill Gates



ARPANET

2. %

Tim Berners-Lee
3 %

Bill Rogers
4.

Question Number : 54 Question Id : 54947028808 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name of the protocol that supports linking from one web page to another page

Options :
HTML
1. ®
85,
2. %
HTTP
3. ¢
FIP



Question Number : 55 Question Id : 54947028809 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

ISDN stands for

Options :

Integrated Services Digital Network
1. ¢

Intelligent Services Digital Network
2. %

Individual Services Digital Network
3. %

Image Services Digital Network
4.%

Question Number : 56 Question Id : 54947028810 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Exclusive educational channel of IGNOU is known as
Options :

Gyan Darshan
1. ¢



Gyan Vani

2. %

Doordarshan
3 %

Prasar Bharati
4, %

Question Number : 57 Question Id : 54947028811 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ozomne depletion is caused due to increase in the level of

Options :

Water vapour
], ®

Chlorofluorocarbo
2.

Oxygen



Carbon monoxide

Question Number : 58 Question Id : 54947028812 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the most dangerous and long-lasting?

Options :
Nuclear waste
1. ¢
Volcano ash
2. %
Mining waste
3 %
Biomedical waste
4. %

Question Number : 59 Question Id : 54947028813 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Petrol engines release gaseous oxides of



Options :

Sulphur
1. ®
Nitrogen
2.
Phosphorous
3. %
Carbon
4.%

Question Number : 60 Question Id : 54947028814 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following causes the least pollution when burnt?

Options :
Petrol
1. %
Diesel
2. %
Coal



Natural gas
4. &

Question Number : 61 Question Id : 54947028815 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The increased water demand in the cities can be better met by

Options :
Larger desalination plants

1. ®

Adoption of conservation measures
2.¢

Drilling more tube wells
3. %

By sewerage treatment plants
4.%

Question Number : 62 Question Id : 54947028816 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a renewable resource?



Options :

Natural gas

1. ®
Petroleum
2. %
Ground water
3.¢
Coal
4, %

Question Number : 63 Question Id : 54947028817 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which National Park is situated at the highest altitude in the country?

Options :

Corbett National Park

Hemis National Park
2.9



Silent Valley National Park

3. %

Dachigam National Park

Question Number : 64 Question Id : 54947028818 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The National Knowledge Comumission, a high level advisory body to Prime Minister
of India, with the objective of transforming India into a knowledge society was set
up in the year

Options :

2005
1. ¢

2006
2. %

2007
3. %

2008

4. %



Question Number : 65 Question Id : 54947028819 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who was the chairman of University Education Commission set up in 1948?

Options :
Dr S. Radhakrishnan
1. &
Dr D. S. Kothari
2. %
Maulana Abul Kalam Azad
3, %
C. D. Deshmukh
4, %

Question Number : 66 Question Id : 54947028820 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Constitution of India (originally) is divided into
Options :

20 parts



22 parts

2.

24 parts
3. %

42 parts
4. %

Question Number : 67 Question Id : 54947028821 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which Fundamental Right is concerned with the abolition of social distinctions?
Options :
Right to equality

1.v

Right against exploitation

Right to life and liberty

Cultural and educational rights



Question Number : 68 Question Id : 54947028822 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An ordinance can be promulgated in case

Options :

of conflict between two Houses on a bill

1. %
both Houses of Parliament are not in session
2.9
the Lok Sabha has been dissolved
3 %
of elections
4, %

Question Number : 69 Question Id : 54947028823 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A Money Bill passed by the Lok Sabha has to be passed by Rajya Sabha within

Options :



Three months

1. ®
Fourteen days
2. ¢
Twenty-one days
3. %
One month
4. %

Question Number : 70 Question Id : 54947028824 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

By which of the following measures NITI Aayog was established?

Options :

Cabinet resolution
1. v

Parliament resolution



President

3. %
Prime Minister
4, %
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Question Number : 71 Question Id : 54947028825 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Points that lie to the left of the PPF are
Options :
Productively efficient points

1. %

Pareto efficient points



Inefficient points
3.¢

Unattainable points

Question Number : 72 Question Id : 54947028826 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The limit pricing based on scale barriers to entry was introduced by

Options :
Marris
1. %
W.J.Baumol
2. ¢
Marshall
3. %
R.F.Kahn
4, %

Question Number : 73 Question Id : 54947028827 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In general equilibrium

Options :



The value of excess demand must sum to zero

1. v
. The walrasian equilibrium is always unique
2.
. A tax will always improve the welfare
3.
The first theorem of welfare economics implies full competition
4. %

Question Number : 74 Question Id : 54947028828 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cobb-Douglas empirically proved that returns to scale will be

Options :

Decreasing
], ®

Constant
2.

Variable
3. %

Increasing



Question Number : 75 Question Id : 54947028829 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s the basic characteristic of Oligopoly?
Options :

, A few sellers, many buyers
1. -

A few sellers, one buyer

A few sellers, a few buyers

Many sellers, a few buyers.

Question Number : 76 Question Id : 54947028830 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

We start from certain basic assumptions and derive conclusions

Options :
Inductive
1.
Mean
2. %
Mode



Deductive
4, &

Question Number : 77 Question Id : 54947028831 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A firm 1s said to be of optimum size when

Options :

L v Average total cost is at a minimum

5 Marginal cost is at a minimum

. Marginal cost is equal to marginal revenue
) The firm is maximising its profits

4,

Question Number : 78 Question Id : 54947028832 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following. automatic adjustment in the ‘Balance of Payments’ can
not be achieved?
Options :

. Expenditure Switching System
1. -



International Gold Standard

2. %
. Floating Price Specie Flow System
3.
Floating Exchange Rates System
4. %

Question Number : 79 Question Id : 54947028833 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the Ricardian Model of Comparative Advantage, The opportunity cost of
production of a good in terms of another good will be

Options :

Zero
1. *

increasing
2. %

decreasing
3. %

Constant
4.9

Question Number : 80 Question Id : 54947028834 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The concept of Investment Multiplies is first introduced by

Options :
R.F.Khan
1. ¢
Hicks
2.8
Keynes
3, %
Pigou
4. %

Question Number : 81 Question Id : 54947028835 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is known as plastic money?

Options :
) Bearer cheques
1.
Credit cards
2.9

Demand drafts



Gift cheques

Question Number : 82 Question Id : 54947028836 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term ‘Crowding out Effect’ is related to

Options :
EXIM Policy
1. ®
Trade Policy
2. %
. Monetary policy
v Fiscal policy

Question Number : 83 Question Id : 54947028837 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

National Income accounts in India are estimated by
Options :

Planning Commission
1%



Finance Cominission

2.8

Central Statistical Organisation
3.

Indian Statistical Institute
4, %

Question Number : 84 Question Id : 54947028838 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On a short-run Phillips curve. high rates of inflation coincide with

Options :

Low unemployment rates
1. ¢

High unemployment rates
2. %

Low interest rates
3. %

High interest rates
4. %

Question Number : 85 Question Id : 54947028839 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Index number was first constructed m

Options :

v 1764

e 1750

1760
1770

4, ®

Question Number : 86 Question Id : 54947028840 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Circular test is satisfied by

Options :
Fisher’s ideal index
1. %
. Paasche’s index nmumber
2.

Simple aggregative method
3. ¢



Laspeyres index

Question Number : 87 Question Id : 54947028841 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A statement of the expected relationship between two or more variable i1s known as
the

Options :
Concept definition
1. %
. Problem statement
2.
. Research question
3.
Hypothesis
4.9

Question Number : 88 Question Id : 54947028842 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A statement of the expected relationship between two or more variables is known as
Options :

Concept definition
1. %



hypotheses

2.

Problem statement
3. %

Researches question
4.%

Question Number : 89 Question Id : 54947028843 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the standard deviation of the population is 35 and the sample size is 9 then the
standard deviation of sampling distribution is

Options :
12.67
1. %
_ 13.67
2. %
11.67
3.¢
14.67
4, ®

Question Number : 90 Question Id : 54947028844 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
A time series consists of
Options :

Two components

Three components

2.
Four components
3.9
Five components
4, %

Question Number : 91 Question Id : 54947028845 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Secular trend can be measured by

Options :

Two methods
1. %

Three methods
2. %

Four methods
3.9



Five methods.

Question Number : 92 Question Id : 54947028846 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a possible ordered pair for a matrix with 6 elements?

Options :

. @3
(3.2)

2. %

e (L6)

v (3.1)

Question Number : 93 Question Id : 54947028847 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary aim of the structural optimization is to determine the ------------
Options :

Design variables
1. ¢



Design parameters

2. %

Design constants
3. %

Design limits
4.%

Question Number : 94 Question Id : 54947028848 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first step in formulating a linear programming problem is
Options :

Identify any upper or lower band on the decision variables

State the constraints as linear combinations of the decision variables

Understand the problem

Identify the decision variables
4.9

Question Number : 95 Question Id : 54947028849 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Two vectors having the same initial points are called as

Options :
. Collinear vectors
1.
Unit vectors
2. %
Coinitial vectors
3. %
Equal vectors
4. %

Question Number : 96 Question Id : 54947028850 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If x* +y°-3xy=0. then y»=
Options :



Question Number : 97 Question Id : 54947028851 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Terms of trade of a country indicates the ratio of

Options :
- Import duties and GDP

Volume of exports and mmports
™ Prices of exports and imports
, Import duties and GDP

Question Number : 98 Question Id : 54947028852 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The theory which emphasized the importance of Social Overhead Capital was
Options :

Balanced growth

Unbalanced growth

2.
) Choice of techniques
3.
Sustainable development
4.%

Question Number : 99 Question Id : 54947028853 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ‘Liquidity Trap” occurs

Options :
, Atvery high levels of interest
1.
At very low levels of interest
2.¢

During high economic development



During hyper inflation

Question Number : 100 Question Id : 54947028854 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The terms of trade are defined as:
Options :

The degree of competition existing in international trade

The difference between exports and imports

2. %

. The difference in value between exports and imports
The rate at which exports exchange for imports

4.

Question Number : 101 Question Id : 54947028855 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A declared reduction in the value at which sterling exchanges for gold and other
currencies is termed:

Options :

Detlation
1. %



Devaluation

2. ¥

Depreciation
3%

Revaluation
4. %

Question Number : 102 Question Id : 54947028856 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

With a floating exchange rate. a monetary contraction causes

Options :

A capital inflow
1.¢

National income to increase
2. %

The exchange rate to depreciate
3. %

The price level to rise

4. %

Question Number : 103 Question Id : 54947028857 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The price of one currency is relation to other currencies in the international
exchange market is known as

Options :

Equilibrium rate

Fixed exchange rate

2. %
Exchange rate
3.¢
. Flexible exchange rate
4.

Question Number : 104 Question Id : 54947028858 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

International trade contributes and increases the world

Options :

Population
1. %

Inflation
2. %

Economy

3.¢



Trade barriers

Question Number : 105 Question Id : 54947028859 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The full form of UNCTAD 1s

Options :
- United Nations Conference on Tariff and Duties
- United Nations Committee on Trade and Development
- United Nations Council on Tariff and Development

. United Nations Conference on Trade and Development.
4.9

Question Number : 106 Question Id : 54947028860 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The increase in public expenditure under Fiscal policy leads to increase in
Options :
Investment



Saving

2. ¥

Ageregate supply
3. %

Aggregate demand
4.9

Question Number : 107 Question Id : 54947028861 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India which of the following taxes is levied by the state governments?

Options :
L Excise duty on liquor
1.8
Capital gains tax
2.
Customs tax
3. %
Corporation tax
4. %

Question Number : 108 Question Id : 54947028862 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Generally the incidence of tax refers to

Options :
L Who ultimately pays the tax

- The level and rate of taxation

3 % The growth of taxation

L The way in which a tax 1s collected

Question Number : 109 Question Id : 54947028863 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A stimulative fiscal policy combined with a restrictive monetary policy will
necessarily cause.

Options :

Interest rates to fall
1. %

Interest rates to rise
2. %

Gross domestic product to increase



Gross domestic product to decrease

Question Number : 110 Question Id : 54947028864 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Union Budget is presented under which Article of the Constitution in India

Options :

Article 110
], %

Article 111
2. %

Article 112
3.9

Article 280
4, %

Question Number : 111 Question Id : 54947028865 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ‘Benefit theory” of allocation of tax burden was given by
Options :

Lindal
1.+



Seligman

Pigou

Dalton

Question Number : 112 Question Id : 54947028866 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the tax liability as a proportion of the Tax base decreases it is called

Options :
Progressive
Regressive

2.¢

Equal

3.

Specific

4, %

Question Number : 113 Question Id : 54947028867 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Monetary policy is formulated by



Options :

Finance Ministry

1. %
Commercial Banks
2. %
Reserve Bank
3.¢
NABARD
4, %

Question Number : 114 Question Id : 54947028868 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Money supply is

Options :
- Stock variable
. Endogeneous variable
2.
Exogeneous variable
3. %

Flow variable
4. &



Question Number : 115 Question Id : 54947028869 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The capital market in India 1s controlled by?

Options :
~ RBI
1. %
NABARD
2. %
SEBI
3.¢
IRDA
4, %

Question Number : 116 Question Id : 54947028870 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Generally money supply is controlled by

Options :

Planning Commission
1. ®

Finance Commission
2. %

Central Bank



Commercial Banks

Question Number : 117 Question Id : 54947028871 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The rate at which Reserve Bank of India advances loans to commercial Banks 1s
called

Options :
. Discount rate

1.

Credit rate
2. %

Deposit rate
3 %

Bank rate
4.9

Question Number : 118 Question Id : 54947028872 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the previous name of the State Bank of India?

Options :



Imperial Bank

1. v
Central Bank
2. %
Bank of India
3, %
Rajadhani Bank
4, %

Question Number : 119 Question Id : 54947028873 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The official process of reduction of the value of rupee
Options :

Valuation rise

Devaluation
2.¢

Currency
3. %

gold



Question Number : 120 Question Id : 54947028874 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Knife-Edge problem arises in

Options :
Solow model
1. %
Kaldor model
2. %
Joan Robinson model
Harrod- Domar model
4, &

Question Number : 121 Question Id : 54947028875 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Critical minimum effort theory was developed by

Options :

H. Leibenstein
1. ¢

A K.Sen
2. %

A Lewis



J.E Meade

Question Number : 122 Question Id : 54947028876 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

PQLI stands for

Options :

. Physical Quantity of Life Index
- Physical Quality of Life Index

- Physical Quality of Literary Index
L Physical Quantity of Literary Index

Question Number : 123 Question Id : 54947028877 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Lorenge curve shows the relationship between
Options :

Asset creation and income generation
1. ®



Unemployment and inflation

2.
Population groups and their respective income shares
3.
. Wage. labour hours and leisure
4.

Question Number : 124 Question Id : 54947028878 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Unbalanced growth theory was advocated by

Options :
Hicks
1. %
Hirschiman
2.
Nurkse
3 %
keynes
4. %

Question Number : 125 Question Id : 54947028879 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Trickle Down theory ignores the impact of economic growth on



Options :

Income distribution

1. v
, Investment
Savings
3, %
consumption
4. %

Question Number : 126 Question Id : 54947028880 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Human Development Index is prepared by
Options :

Government of India

World Health Organisation

3. ¢ E

Central Statistical Organisation



Question Number : 127 Question Id : 54947028881 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The green-house effect is the phenomenon by which

Options :
o Biological diversity is dominant in agricultural production
The globe’s water pollution affects plankton
v The earth’s atmosphere traps infrared radiation
) Noise pollution is increased enourmously
4,

Question Number : 128 Question Id : 54947028882 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The investment in pollution control technology makes sense only if marginal
benefits from pollution control 1s
Options :

Equal to the marginal cost of investment

More than the marginal cost of investment
2. ¥



Less than the marginal cost of investment

positive

Question Number : 129 Question Id : 54947028883 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

U N conference on environment in 1972 was held at:

Options :

Rio de Janeira
1. %

Geneva
2. %

Johannesberg
3 %

Stackholm
4.

Question Number : 130 Question Id : 54947028884 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a direct method of environmental evaluation?

Options :



Travel cost method

1. ®

Hedonic pricing method
2. %

Contingent valuation method
3.¢

Preventive expenditure method
4. %

Question Number : 131 Question Id : 54947028885 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An individual may have a full legal property right over an asset:
Options :

Only if the Coase theorem does not hold
But may not have full economic right over the asset

2.¢

Only in a command economy

But cannot use it



Question Number : 132 Question Id : 54947028886 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An externality occurs because:

Options :

People do not understand the coase theorem

Property rights are clearly defined

2. %

The courts are biased
3. %

There are no property rights
4.9

Question Number : 133 Question Id : 54947028887 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following migration streams in India females dominate the most?
Options :

Urban to urban migration
1. %

Rural to urban migration



Rural to rural migration
3.¢

, » Urban to rural migration

Question Number : 134 Question Id : 54947028888 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The yellow revolution refers to the increase in the production of

Options :
) Milk
®
Fish
01l seeds
3.9
Wheat
4, %

Question Number : 135 Question Id : 54947028889 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The concept of PURA 1is given by

Options :



Prof. C._N.R.Rao

1. #
Dr.A.J. Abdul Kalam
2.9
Dr. Amartya Sen
3. %
Dr. Swaminathan
4, %

Question Number : 136 Question Id : 54947028890 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Economic growth is the study of
Options :
Planned developmental phenomenon
Short term economic phenomenon

Micro economic phenomenon

LDDg term economic phEIlDl].'lEllUll
4. ¢



Question Number : 137 Question Id : 54947028891 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Agriculture dry-land farming refers to farming

Options :

With rain water
1.

With little water
2. %

With more water

Without water

Question Number : 138 Question Id : 54947028892 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India which sector contributions to GDP are increasing at a faster rate
Options :

Agriculture

Industry
2. %



Service

Trade

Question Number : 139 Question Id : 54947028893 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who was the chairman appointed for poverty estimates committee in 20097?

Options :

Suresh Tendulkar
1. ¢

C.Rangarajan
2. % :

Vijay kelkar
3 %

P. Chidambaram

4, ®

Question Number : 140 Question Id : 54947028894 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

National Institution for Transforming India [NITI] Aayog was setup to
replace



Options :
Planning Commission of India

1. v
. Human Rights Commission
2.
s National Commission for women

Reshtriva Barh Ayog
4. %



